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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–III • EXAMINATION – SUMMER • 2014 

Subject Code: 3330605 Date: 21-06-2014        

Subject Name: Surveying  

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

Q.1 (a) (i)  Define surveying and state it`s purposes.                                                 

(ii) Differentiate plain scale and diagonal scale.                                              04                               

03 

 (b) (i)  Draw a neat sketch of 20.0 m metric chain and label all parts. 

(ii) Differentiate cumulative error and compensating error.                            04 

03 

    
Q.2 (a) (i)  Draw conventional symbol.  

        (i) Embankment  (ii) Hedge  (iii) Bench mark. 

(ii) Write short note on Global positioning system.                                         04 

03 

 (b) The following bearing of the lines observed for closed traverse ABCDA. 

Correct the bearing of lines for local attraction. Calculate the included angles 

and apply the usual check. 

Line Fore Bearing Back Bearing 

AB 58°0´ 238°0´ 

BC 130°0´ 312°0´ 

CD 252°0´ 68°0´ 

DA 342°0´ 164°0´ 
 

07 

   

OR 

 

 

 (b) The following bearing of the lines observed for closed traverse ABCDA with 

the surveyor compass. Calculate the included angles. Apply the usual check. 

Line Fore Bearing 

AB N58°30´E 

BC S45°30´E 

CD S30°30´W 

DA N35°30´W 
 

07 

    
Q.3 (a) (i)  Differentiate closed traverse and open traverse. 

(ii) Explain temporary adjustment of prismatic compass.                               04 

03 

 (b) State and explain the methods of orientation in plain table survey. 07 

   

OR 

 

 

Q.3 (a) Write short note.  

(i) Local attraction                  (ii) Closing error 

07 

 (b) Explain the method of radiation with sketch.  07 
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Q.4 (a) Define the terms. 

(i) Axis of telescope                                (ii) Line of collimation                    

(iii) Height of Instrument                        (iv) Back sight                                   

(v) Fore sight. 

07 

 (b) The following readings were taken with dumpy level with 4.0 m leveling staff 

and 20.0 m interval. 

1.155, 1.550, 2.005, 2.850, 3.650, 1.005, 2.455, 3.750, 1.250, 2.650 and 3.150. 

If R.L of first point is 15.00 m. Calculate the R.L of other points by Rise and 

Fall method. 

07 

  OR 

 

 

Q. 4 (a) Define the terms. 

(i) Level plane                                                 (ii) Horizontal plane                 

(iii) Vertical plane                                           (iv) Reduce level                            

(iv) Benchmark. 

07 

 (b) The following readings were taken with dumpy level with 4.0 m leveling staff 

and 20.0 m interval. 

1.755, 2.505, 3.050, 3.950, 1.750, 2.355, 3.100, 3.805, 0.905, 2.005 and 3.250. 

If R.L of first point is 15.0 m. Calculate  the R.L of other points by H.I method 

07 

    
Q.5 (a) State the characteristics of contours. 07 

 (b) The following readings were taken during the reciprocal leveling carried out to 

determine the true difference of level of points A and B on opposite banks of 

river. 

 Level 

Station 

Staff Reading on Remarks 

 A B  

A 1.565 2.785 Distance between A & B = 800.0 m. 

B 0.435 1.695 R.L of A=180.85  m. 
 

07 

  Calculate:  

                (i) The true difference of elevation between A & B. 

                (ii) The R.L of B. 

                (iii) Total Error in observation. 

 

OR 

 

 

Q.5 (a) State and explain the methods of interpolation of contours. 07 

 (b) Calculate the correction for curvature, correction for refraction and combined 

correction for curvature and refraction for a distance of 1700.0 m. 

07 

 

************ 
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ગજુરાતી 
 

પ્રશ્ન. ૧ અ (i) વલૅક્ષણની વ્માખ્મા આ઩ો અને તેના શતેઓુ જણાલો. 
(ii) તપાલત આ઩ો. વાદો સ્કેરા અને વલકૅણ સ્કેર.                          ૦૪ 

૦૩ 

 બ (i) ૨૦.૦ ભીટય ભેટ્રીક વાાંક઱નો સ્કેચ દોયી તેના બાગો દળૉલો. 
(ii) તપાલત આ઩ો. વાંચમી ત્રટુીઓ અને પયૂક ત્રટુીઓ.                       ૦૪  

૦૩ 

    
પ્રશ્ન. ૨ અ (i) રૂઢઢગત વાંજ્ઞાઓ દોયો.  

          (i) બયાઇ     (ii)  લાડ     (iii) ફેંચભાકૅ્ર                                                  
(ii) ગ્રોફર ઩ોઝીળનીંગ વવસ્ટભ ઩ય ટુાંક નોધ રખો.                         ૦૪ 

૦૩ 

 બ ફાંધ ભારાયેણની રાઇનના રીધરા અલરોકનો નીચે મજુફના છે. સ્થાનીક 
આક઴ૅણ ભાટે રાઇનના ફેયીંગભાાં સધુાયો કયી અંતગૅતા ખણૂાઓ ળોધો અને 
જરૂયી તા઱ો ભે઱લો. 
 

Line Fore Bearing Back Bearing 

AB 58°0´ 238°0´ 

BC 130°0´ 312°0´ 

CD 252°0´ 68°0´ 

DA 342°0´ 164°0´  

૦૭ 

  અથવા  

 બ ફાંધ ભારાયેણની રાઇનના વલૅમય કાં઩ાવથી રીધરા અલરોકનો નીચે મજુફના 
છે. અંતગૅતા ખણૂાઓ ળોધો અને જરૂયી તા઱ો ભે઱લો. 

Line Fore Bearing 

AB N58°30´E 

BC S45°30´
 

CD S30°30´W 

DA N35°30´W 
 

૦૭ 

    
પ્રશ્ન. ૩ અ (i) તપાલતા આ઩ો. ફાંધ ભારાયેખ અને ખલુ્રી ભારાયેખ  

(ii) પ્રીઝભેટીક કાં઩ાવં ુાં શાંગાભી વભામોજન વભવોલો.                       ૦૪ 

૦૩ 

 બ પ્રેનટેફર વલૅક્ષણ ભાટે ઢદકસ્થા઩નની યીતો જણાલો અને વભવોલો. ૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ ટુાંકનોધ રખો. (i) સ્થાનીક આકૅ઴ણ (ii) વભા઩ન ત્રટુી  ૦૭ 

 બ આક્રુવત દોયી વલઢકયણની યીત વભવોલો. ૦૭ 

    
પ્રશ્ન. ૪ અ ઩દોની વ્માખ્મા આ઩ો. 

(i) ટેલરસ્કો઩ની અક્ષ                 (ii) દૃષ્ટટ યેખા  
(iii) ઉ઩યકણની ઉંચાઇ               (iv) પ્રશ્વાલરોકન 
(v) અગ્રાલરોકન  

૦૭ 
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 બ ડાંમ્઩ી રેલર અને ૪.૦ ભીટયની ઉચાઇના સ્ટાપથી ૨૦.૦ ભીટયના અંતયે નીચે 
મજુફના અલરોકનો રીધેર શતા   
1.155, 1.550, 2.005, 2.850, 3.650, 1.005, 2.455, 3.750, 1.250, 2.650 અને 3.150.                                                                    
જો ઩શરેા અલરોકનની વા઩ેક્ષ ઉંચાઇ ૧૫.૦ ભીટય શોમ ફાકીના અલરોકનોની 
વા઩ેક્ષ ઉંચાઇ ચઢાલ- ઉતાય યીતથી ળોધો. 

૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ ઩દોની વ્માખ્મા આ઩ો. 
(i) વભતર વ઩ાટી                 (ii) ક્ષૌવતજ વ઩ાટી  
(iii) ઉધ્લૉધય વ઩ાટી               (iv) વા઩ેક્ષ ઉંચાઇ  
(v) તર લચન્શ  

૦૭ 

 બ ડાંમ્઩ી રેલર અને ૪.૦ ભીટયની ઉચાઇના સ્ટાપથી ૨૦.૦ ભીટયના અંતયે નીચે 
મજુફના અલરોકનો રીધેર શતા   
1.755,2.505, 3.050, 3.950, 1.750, 2.355, 3.100, 3.805, 0.905, 2.005 અને 3.250. 

જો ઩શરેા અલરોકની વા઩ેક્ષ ઉંચાઇ ૧૫.૦ ભીટય શોમ ફાકીના અલરોકનોની 
વા઩ેક્ષ ઉંચાઇ વભાાંતયણ તરની યીતથી ળોધો. 

૦૭ 

    
પ્રશ્ન. ૫ અ વભોચ્ચ યેખાની રાક્ષ્ણીકતાઓ જણાલો  ૦૭ 

 બ નદીના વાભવાભે કાાંઠે આલેરા લફિંદુઓ A અને B લચ્ચેની ઉંચાઇનો તપાલત 
કાઢલા ભાટે વ્મસ્ત તરેક્ષણ કયલાભાાં આલેર અને નીચેના અલરોકનો ભ઱ેર છે.  

 Level 

Station 

Staff Reading on Remarks 

 A B  

A 1.565 2.785 Distance between A & B = 800.0 m. 

B 0.435 1.695 R.L of A=180.85 m. 
 

૦૭ 

  ગણતયી કયો. 
(i) A અને B લચ્ચેની ઉંચાઇનો વાચો તપાલત.  
(ii) B ની વા઩ેક્ષ ઉંચાઇ. 
(iii) અલરોકનની કુર ત્રઢુટ.   

અથવા 

 

પ્રશ્ન. ૫ અ નકળા ઩ય વભોચ્ચ યેખઓ ભે઱લલાની યીતો જણાલો અને વભવોલો. ૦૭ 

 બ ૧૭૦૦.૦ ભીટયના અંતય ભાટે પથૃ્લીની ગો઱ાઇ અને લઢક્રબલન ભાટેના સધુાયા 
તેભજ ગો઱ાઇ અને લઢક્રબલન ભાટેના વયુાંકત સધુાયા ગણો.     

૦૭ 
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